REDROCK

BED POWER SUPPLY
LOCK BOX

(2016-2022+ TACOMA)

INSTALLATION INSTRUCTIONS

CONTENTS TOOLS REQUIRED

(1) Lock Box T-30 Torx Socket/Key
(2) Keys 4mm Allen Socket/Key
(6) M6 Allen Bolts Ratchet

(6) M6 Flat Washers

SKU #TT31231
Edited: 11/10/2022



REDROCK

STEP1

Remove the (6) T-30 Torx bolts from the outer edge of the power supply.

STEP 2

Align the lock box to the power supply container, and secure into place using (6) M6 Allen bolts and
(6) M6 flat washers. Tighten until secure.



	TT31231 - RedRock - Bed Power Supply Lock Box (16-21 Tacoma)-01
	TT31231 - RedRock - Bed Power Supply Lock Box (16-21 Tacoma)-02

